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1 Introduction

This is the summary document for the following come back:   
CB: # 1_PTW_Length

- RAN3 updates the maximum PTW length of IDLE eDRX to 40.96 seconds or asks RAN WG2 to reconsider their decision?

- Provide CRs if agreeable
(Nok - moderator)
Summary of offline disc R3-224984
2 For the Chairman’s Notes

Propose the following:  
Agree TP … .
3 First Round
RAN3 Specifications impacted

RAN2 has agreed at RAN2#117 the PTW length and granularity as follows:

1. The maximum PTW length is 40.96s when IDLE eDRX cycle is longer than 10.24s.

2. The minimum PTW length is 1.28s and the step length/granularity of PTW length is 1.28 when IDLE eDRX cycle is longer than 10.24s.

This is however not aligned with RAN3 specifications for the PTW length which is currently limited to 20.48s:

RAN2 therefore has sent an LS to RAN3 in R3-224211 to ask for alignment at this RAN3#117 meeting.

However, there is a misalignment on the maximum PTW length between RAN2 and RAN3/CT1 current specification. According to the current XnAP and F1AP singalling, the maximum length of NR Paging Time Window is defined as 20.48 seconds.

	IE/Group Name
	Presence
	Range
	IE type and reference
	Semantics description

	NR Paging eDRX Cycle Idle
	M
	
	ENUMERATED(hfquarter, hfhalf, hf1, hf2, hf4, hf8, hf16, hf32, hf64, hf128, hf256, hf512, hf1024, …)
	TeDRX,CN defined in TS 38.304 [24]. Unit: [number of hyperframes].

	NR Paging Time Window
	O
	
	ENUMERATED(s1, s2, s3, s4, s5, s6, s7, s8, s9, s10, s11, s12, s13, s14, s15, s16, …)
	Unit: [1.28 second].



Q1: do you agree that RAN3 should align their specifications to RAN2 decision?  

	Company
	Comment

	Nokia
	Yes. RAN2 is the group with the relevant competence.

	
	

	
	

	
	


The next question is which RAN3 specification(s) should be impacted. 
RAN2 LS mentions XnAP and F1AP only.

Q2: do you agree that RAN2 decision impacts at least the NR Paging eDRX Information IE in XnAP and F1AP?  

	Company
	Comment

	Nokia
	Yes. As proposed in R3-224556/57.

	
	

	
	

	
	


Actually, the NR Paging eDRX Information IE value sent over Xn, F1 is sent from the CN. NG seems also impacted.

Therefore, it seems that the Paging Time Window length should be increased in all NG, Xn, F1 interfaces.

Q3: do you agree that RAN3 should also update the NR Paging eDRX Information IE in NGAP?  

	Company
	Comment

	Nokia
	Yes. As proposed in R3-224555.

	
	

	
	

	
	


Moderator’s summary:

Majority of companies think …

Proposal 1: TP...

Which impact?
Different flavours are proposed for the change.

· Option 1: Tdocs (R3-224455/56/57) (R3-224584/85/86) and (R3-224812/13/14) propose to extend adding 16 values corresponding to PTW length ranging from 20.48s to 40.96s by steps of 1.28 second

s17,s18,s19,s20,s21,s22,s23,s24,s25,s26,s27,s28,s29,s30,s31,s32
· Option 2: Tdocs (R3-224721/22/23) propose to extend adding only the value 40.96 seconds. 
· s32
Q4: which option do you think is aligned with RAN2?  

	Company
	Comment

	Nokia
	We support option 1. 
the RAN2 LS has the following hint: “and the step length/granularity of PTW length is 1.28 when IDLE eDRX cycle is longer than 10.24s”.

	
	

	
	

	
	


LS out?
Some companies have proposed a reply LS to RAN2 just to inform and send the agreed CRs in case the answer to Q1 is “yes”:
· In 4592: 

RAN3 thanks to RAN2 for the LS on the maximum PTW length of IDLE eDRX. RAN3 has discussed the issue raised by RAN2, and made the following agreements:

· The maximum PTW length for idle eDRX is updated to 40.96s with the 1.28s granularity. 

The agreed CRs can be found in the attached documents.

· In 4724

RAN3 would like to inform RAN2 that RAN3 has approved R17 CRs for the misalignment on the maximum PTW length, and the maximum length of NR Paging Time Window in F1AP, XnAP and NGAP is updated to 40.96s.
Some other company has proposed a reply LS in case the answer to Q1 is “no”:
· In 4243

RAN3 asks RAN WG2 to reconsider their decision to set the maximum PTW length of IDLE eDRX to 40.96 seconds
In their incoming LS the actions from RAN2 to RAN3 were as follows:
2. Actions

To RAN3/CT1 group:

ACTION: 
RAN2 respectfully asks RAN3/CT1 to consider the RAN2 agreements on maximum PTW length (as 40.96 seconds) and update the PTW length in their related protocols, and to provide feedback if needed.
So RAN2 is asking feedback “only if needed”.

We therefore need to evaluate this “need”. There are 3 possible options:
· Option 1: Send an LS back if answer to Q1 is “yes”
· Option 2: Send an LS back only if answer to Q1 is “no”

· Option 3: No LS back is needed, regardless answer to Q1 is “yes” or “no”.

Q5: what is your view for sending an LS back between these 3 options?  

	Company
	Comment

	Nokia
	Option 2.
An LS back seems justified only if RAN3 would agree to challenge RAN2.

	
	

	
	

	
	


Moderator’s summary:

Majority of companies think …

Proposal 2: TP...

4 Second Round

Moderator’s summary:

Majority of companies think …

Proposal 2: TP...

5 Conclusion

The following is proposed:

Proposal 1: TP...
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